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1.	It was ...
a. Winter
b. Summer
c. Spring 
d. Autumn

2.	Taffy puts on a ...
a. Jetpack
b. Pair of wings
c. Cap
d. Car

3.	Taffy tries ...
a. A spring
b. A bird
c. Jumping
d. Running

4.	Taffy can ...
a. Run alongside
b. Sit on Trek’s arm
c. Ride on top
d. Ride inside

5.	How many birds are flying with Trek?

6.	What color stripes are on Trek’s shirt?

_____	 1.	The cap is used to help fly.

_____	 2.	They tried to see if Taffy can fly.

_____	 3.	The cap helped Taffy fly.

_____	 4.	The spring helped Taffy fly.

_____	 5.	Taffy rode inside the Scarecrow’s 
shirt.

_____	 6.	Cats can fly.

QUESTIONS

TRUE OR FALSE?

WELCOME TO READING

Can Taffy Fly?
Trek tries to help Taffy fly.  

Find out more in Can Taffy Fly?

What did you learn?
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ANSWERS

TRUE OR FALSE? ANSWERS

1.	b. Summer. According to page 1, we know 
that “It is summer. It is warm.” So, the correct 
answer is B. 

2.	c. Cap. According to page 4, we know that 
“Put on the cap.” So, the correct answer is C.

3.	a. Spring. According to page 6, we know 
that “Try the spring.” So, the correct answer is 
A.

4.	d. Ride inside. According to page 8, 
we know that “Taffy can ride. She can ride 
inside!” So, the correct answer is D.

5.	As you can see on page 1, Trek is flying with 
three birds.

6.	As you can see on page 1, Trek has blue 
stripes on his shirt.

1.	True. According to page 5, we know that 
“The cap can fly.” So, the correct answer is 
True.

2.	True. According to page 3, we know that 
“Hmm. Can cats fly? We can try.” So, the 
correct answer is True.

3.	False. According to page 5, we know that 
“The cap can fly. But Taffy cannot.” So, the 
correct answer is False. 
 

4.	False. According to page 7, we know that 
“The spring pops. Taffy stops.” So, the correct 
answer is False.

5.	True. According to page 8, we know that 
“Taffy can ride. She can ride inside!” So, the 
correct answer is True.

6.	False. According to page 3, we know that 
“Hmm. Can cays fly? We can try.” So, the 
correct answer is False.


